/DVIRB

3UDFRZQLN 5RINdaDG PJU 5RVLeVND - RNRW $JDWD 7\J

N N N
o -CIWDQJ iz % PJ -CIWDQJ iz % PJ -CIWDQJ iz % PJ
™ U SRVIEVND . RNRI $JDID U SRVIEVND . RNRI $JDID U SRVIEVND . RNRI $JDID
z 6-2 )/ z 6-23("/ z 6-23(" 7/
$1* $1* $1*
N
= -CI\DQJ Uz % PJ
T U SRVIEVND . RNRI $JDID
[hd z 6-23,(/
= $1*
N
SIXV RVRE\ RG PJU
, *RIHF
A N N N
o -CIWDQJ iz % PJ -CIWDQJ iz % PJ -CIWDQJ iz % P
o U SRVIEVND . RNRI $JDID U SRVIEVND . RNRI $JDID JUSRVIEVND . RNRI
T : 6-2.%/ : 6-2 .6%/ $JIDID = 6-2 0%/
$1* $1* o  $1*
N N 7N
- -CI\NDQJ 0z % PJ -CI\DQJ Uz % PJ -CIWDQJ iz % PJ
) U SRVIEVND . RNRI $JDID U SRVIEVND . RNRI $JDID U SRVIEVND . RNRI $JDID
: 6-2 " (7/ : 6-2 ./ $1* H 6-2 .6% /
$1* $1*
N
> -CI\WDQJ UZ % PJUSRVIEVND .RNRI$JDID = O3
I &)1
=
Q
@ _ N ]
-CI\NDQJ GZ %  PJUSRVIEVND .RNRI
$JDID = 6-2&)=1 $1*
N N 7\G] 7\G]
- - OHIRG\ND ZF]HVQHI QDXNLIC]\ND REFHJR = PJU SRVIEVND . RNRI OHIRG\ND ZFJHVQHI QDXNLICT\ND REFHJR = PJU
-CIWDQJ iz % PJ -CIWDQJ iz % P $JIDID = :336 (3: SRVIEVND .RNRI$JIDID = 336 (3:
U SRVIEVND . RNRI $JDID JUSRVIEVND . RNRI $JDID 1-2 1-2
- 6-2 .5 - 6-2%$"0 6
$1* $1> 7\6] 7\6]
= 1DXF]DQIH GZXICI\FJQH PJU SRVIEVND . RNRI $JDID 1DXF]DQIH GZXICI\F]QH PJU SRVIEVND
& : =336 (3: -RNRI'$JDID = -336 (3:
[
> 7\G]
OHIRG\ND ZFTHVQHI QDXNLIC]\ND REFHJIR iZ PJU SRVIEVND . RNRIl
$JDID = 336 (3=
7\G]

OHIRG\ND ZFJHVQHI QDXNLIC]\ND REFHJIR UZ PJU SRVIEVND . RNRIl
$JDID =

2336

@G:




/DVIRB
3UDFRZQLN 5RINdaDG PJU 5RVLeVND - RNRW $JDWD 7\J

VRERWD

7\6]

OHIRG\ND
ZF]HVQHI
QDXNL
ICJ\ND
REFHJIR
uz P
SRVIEVND
- RNRV
$JIDID =
33
6 (3:

7\G]

1DXF]DQH GZXIE]\F]QH PJU SRVIEVND
-RNRI'$JDID = =336 (8:

6

7\6]

1DXF]DQIH GZXIC]\F]QH PJU SRVIEVND .RNRI $JDID =
@3:

-33




